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Why say it, if it is sufficient, etc. — 9912 NI R NPDOR

OVERVIEW

The X7ma cites the X9°0 of the Xn»12 regarding vopn "y, that by a woman
who is exiled to v9pn >y, the husband is obligated to feed her; indicating
that the Xn>71 is discussing a case where "1 77> 7wyn XX was not said
(neither by the husband not by the master). The X713 rejects this and
maintains that the Xn>92 is discussing where the husband said 77> qwyn RX
and if it is insufficient, then the husband must feed her; however if her 7wy»
77 1s sufficient then he is not obligated to feed her. The X na then asks, if
her 7°7> 7wy~ is sufficient then it is obvious that he need not feed her; what is
the Xn»72 teaching us? mMdoIn explains why this question is only if we
assume that the X (of the X9°0) is a case of P50 X7, but if we assume that
in all cases it is 71p90, there will be no question.'

—’NpovTa 2a%a NaYwA NN N
The ®Xn>72 will be properly understood if we assume that the entire xn»"2

is in a case of XpoY, for then we can say that the Xn»92 -
— 1Y 9NR N2 39RT “NUIIN 999939 1Y 9NRT RO NI

Taught us the (X5°07) Xp°0 that (when) he told her "2 7°7 nwyn XX (he
does not have to support her), the purpose of this ruling is to reveal that the
(x2°07) R@w" where it states that 7°n11m2 21 75v1 is in a case where he did

not say to her "> 77 qwyn oxx -
— *NPOD NYTA XU DNRPINT RAYH YaN
However, now that you have established the X2 in a case of Xpso KY -
—1IINYNY NIN N0 71 NI N9

! The x9°0 (of the X9°0) in the Xn™73 states that if he told her MMM "7 TwWy» *XY then the husband need
not feed her. This is obviously in a case where ;P50 (for otherwise he is required to feed her). The question
is why is the Xn>™2 teaching us an obvious 7377, that by 1750 he can tell her "M 7> WY RY.

? This includes also the (X9°07) Xw™ where the Xn™3 states MMM 20 719v3 (and he did not tell her X
TN T AwYR).

? See 7" w 0" who comments that seemingly Moo should have said 121 X9°0 Xin 72 7K X772 K™ 2"KK'
(but not P50 X972 7710 2"RK).

* Granted that there is no novelty in the law of the 20 itself (for it is obvious that if he told her *xx and
}poo, he need not feed her), however, by teaching us this ruling, it permits us to assume that the Xw™
(where it states that 7°mnmea 21 7%93) is discussing where he did not say "21 °X¥. [And therefore (by
inference) the case of the 72y is also without saying Xx¥; proving that 121 "y qwy 72v% % 1TRT 212° (see
1"mn).]

> See ‘Thinking it over’ #1 (&2).
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And therefore the X230 was merely taught to inform us -
— PN T NUYN INY 1Y 1Y 919 NPODNaT

That by npeon he can tell her 750119122 797° WYR OKRY, then the question arises-
:6\01‘1’1'\ DIV 1N AT NI1IMIY INN
What is this teaching us; for there is no novelty at all in this ruling?!

SUMMARY
There is a purpose in stating an obvious ruling if we can infer from this
ruling a novelty regarding another ruling.

THINKING IT OVER

1. Mmoo explains the s'R 3 question, that if the X is by "21 °X¥ and XY
7o, then the 89°0 is superfluous.” Why can we not say that the X5°0 teaches
us that the X" is Xpod K72 (just as Moo says [according to the Jwpn] that
the X9°0 teaches us that the X7 is 127 XX K K92)?1°

2. mpoIn could have said that if we would assume that 121 7wy 1> 277 91,
then we could establish the &9°07 X2°0 (where it says 121 *X¥ 7% 92K oY) that
it is po0 XY and nevertheless he is not obligated to make up the 1pPd0 X7,
since he can claim that 7n73 79 that she was 7913, and the X9°07 Xv™1 (where
it states 121 211 719¥2) is where he did not tell her 121 °R¥, and he mentions
the XWX 935 89°0, that 72V is also not discussing XY (proving that 277 912
"21). The advantage of this explanation is that there is a w171 (by the X5°0
X5°07) as opposed to Moo explanation!’

® The x 3 answered that there is a novelty; he can tell his wife 121 7>7° nwyn XY (in the vopn ™W) even
though n7°10 791 N2 77125 95 (see 710 7"7 "W).

7 See footnote # 5.

¥ See 7" w 0" .

? See n"nX # 64,
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